PPU INSTRUCTIONS 7600 COMPASS Version 2

Otdm LIM  md Long jump to m(d) 10:28 | '60dmt FIM  m.dtt Jump to m; input word flag
o on channel d 10-15
61dmt EIM  m,dtt Jump to m; no input word
02dm RJIM md Return jump to m+(d) 15-30 flag on channel d 0-15
03d  UIN r Uncond‘mon-l jump to pr 7.10 | B2dm¥#RM _m.dft Jump to m; input record flag
04d  ZIN Zero jump to p+r 510 on channel d 10-15
05d NJN r  Nonzero jump to psr 510 | 63dmt NIM m.dit Jump to m; no input
06d  PJN r  Plus jump to psr 5-10 . record flag on channel d 10-18
O7d - MON r  Minosjomp toper 310 | B4dmt FOM m.dtt Jump to m; output
. word flag on channe! d 10-15
65dmt EOM m.dtt Jump to m; no output
word flag on channel d 10-15
10d  SHN r  Shift (A) byo(leh)o' N 66dmt ORM m,dtt Jump to m; output
(right) r bi 6-34 record flag on channel d 10-15
11d LMN d  Logical difeee by 5 67dmt NOM m,dtt Jump to m; no output
12d  LPN d Lagical product (A) Id 5 record flag on channel d 10-15-
13d  SCN d - Selective clear (A) 5
14d LDN d  Load d=A 5 70d IAN d  Input to A from channeld 9+
15¢ LCN d  Load complement d~A 5 74dm IAM md Input (A) words to device
16d ADN d dH(A) 5 : m from channel d dependent
17d  SBN d  Subtract (A) — d=A 5 72d  OAN d  Output from A on channel d 9+
73dm OAM m.d- Output (A) words from m device
R e dependent
20dm LDC ¢ R 1o RFN Send record flag on channel d §
21dm ADC ¢ Add (A)cA 10 7700t ESN d  Error stop 5
22dm LPC ¢  Logical product (A)s c=A 10
23dm LMC ¢ Logical difference (A)—c—~A 10
2400 PSN Pass 5
6000 SERIES INSTRUCTIONS
30d LDD d  Load (d)=A 15
31d  ADD d  Add (d){A)A 18 260d EXN d  Exchange jump to CPU d
32d SBD .d _ Subtract (A)—(d)— 15 261d MXNd  Monitor exchange jump CPU d
33d LMD d  Logical d,ﬂe,ence(A,-'d,.A 15 2104 REN d, - Read Progeém address of CPU d
34d STD d Store (A 15 60d d Central read from (A) to
354 RAD d  Replace o (dy(Ay-d 25 Sram CRM m.dtt Cantral read (@ CM o beginning at
36d AOD d  Replace add one (d)++=d 25 Ar=PPU m
37d SOD d Replace subtract one 62d CwWDd ‘Lentral write from d to (A)
(d) =t 25 63dm CWM m.dit Central write (d) CM words beginning at
PPU.m=CM (A)
404 LDl d Load ((d))-A 64dm AJM m.dtt Jump to m if channel d active
41d  ADI d Add ((d))HA] 65dm IJM m.dtt Jump to m if channel d inactive
424 SBI d Suhlracl (A) ( 66dm FJM m.dtt Jump to m if channel d full
434 Ml d |¢memg(A)_((¢n-A 67dm EJM m.dtt Jump to m if channel d empty
44d STl o Smre( = 74d ACNd Activate channel d
454 RAI d  Replace add (A)((d))~(d) 754 DEN'd "  Disconnect channel d
46d AOl d Replace add m«d))o {d) 76d  FAN d Function (A) on channel d
47d SOl d nemm ,umm. 77dm FNC c.dtt Function c on channel d
((d)) — t=(dy
50dm LDM md Load (m+(d))-~A
51dm ADM m.d Add (m+{(d))+(A)A
md

Subtract (A) — (m+(d)r~A

53dm LMM md Logical difference
(A) = (mH{d}—=A

54dm STM md Store (A)ems(d)

§5dm RAM m.d Repm)ceadd(A)f(ﬂw‘d)l“
me(d

56dm AOM md Replace add one
(m+(d)) t=ms(d)

57dm SOM md Replace subtract one

(m#(d)) — 1=m+(d)

6416 INSTRUCTIONS

260d ETN - d Exland;d transfer
270d ERN d Extended read status

17600 only
t1d is required
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